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In a digita jcation system, consider a source whose output under hypothesis H is
a constant v alue m, while it’s output under Hp is zero. The received signal is

corrupted by N,
up the li

in Optimum detection of M-ary signal in wh
Explain application of detection
btain Optimum Decision Ru

te the probability of false a
IMAX Criterion With example.

OR

Bayes’ Criterion.

In digital communication sys
constant voltage of value m, W
by N, an AWGN. Suppose that the
samples are independent Gaussian random va

o°.obtain the optimum decision rule.

Page 1 of 2

tem consider a sourc
hile it’s output under
receiver takes K samples,

WGN of zero mean, and variance .
elihood ratio test and determine the dec
larm and probability of detection.

for Radar target model.
le Tn Terms Of Likelihood Ratio And Threshold Using

riables each

ision regions.

ite Gaussian noise.

¥, Yaeemervmsins Y. The noise
with zero mean and variance

NG
TOTAL Mark®

>

6

6
6

6
5
6

¢ whose output under hypothesis Hy is 6
H, is zero. The received is corrupted



A)
(B)

(4)
(B)

(4)
(B)

(4)
(B)
(4)
®)

Seat No.

SECTION-II

Explain the Multiple parameter estimation for random parameter. X
Find x",,;, the minimum mean-square error, and x”,q,, the maximum a posteriori to
X from the observation ¥= X+ N, X and N are random variables with density functio
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Explain MLP Estimation in brief,

Consider K observations, such that

Yk=m+Nk,k=1, 23K -

Where m is unknown and Ns are statistically inde ent zet@y mean Gaussian random
variables with unknown variance 2.

(a) Find the estimates m" and 6" 2 for mand o, respe

(b) Is m" an efficient estimator?

(c) Find the conditional variance of the etror var|(m |

Explain cramer-rao Inequality for random par,

ML Estimation for nonlinear estimation,
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Explain baye’s Estimation for rz
Define types of estimation. &
What is Estimation theory? avith
MAP Estimation for line,
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